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BACHELOR OF EDUCATION 
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June, 2017 

CD  ES-342: TEACHING OF MATHEMATICS 

Time : 3 hours 	 Maximum Weightage : 70% 

Note : (i) All the four questions are compulsory. 

(ii) All questions carry equal weightage. 

1. Answer the following question in about 
600 words : 
Discuss the desirable characteristics of a good 
instructional programme in mathematics. Also 
elaborate the various steps involved in developing 
an instructional programme in mathematics by 
giving suitable examples. 

OR 

What are the salient features of Inductive-
Deductive method of teaching mathematics at 
school stage ? Explain with the help of a concrete 
example, how this approach works ? Also 
highlight some of the limitations of this method. 

2. Answer the following question in about 
600 words : 

Formulate objectives, select learning experiences 
to teach any one of the following topics to 
secondary school students : 
(a) Properties of Exponents 
(b) Percentage and its computation 
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3. 	Write short notes on any five of the following in 
about 120 words each : 
(a) Role of logic in mathematical thought 
(b) Evaluation for Improvement of Instruction 
(c) Bank Account and its working 
(d) Stocks and Shares 
(e) Graphical method of solving linear 

equations 
(f) Flow charting and computing 
(g) Teaching the Area of a quadrilateral 
(h) Application of Trigonometry to daily life 

activities 

	

4. 	Answer the following question in about 
600 words : 
Explain how you would carry out the teaching-
learning process so as to make your students 
compute the cost of white-washing the walls, 
painting the doors and carpeting the floor at the 
uniform rate of Z 5 per square foot. The following 
are the dimensions of various forms : 
(a) Classroom : 15' x 12' x 10' (l x b x h) 
(b) Two doors : 6' x 4' each 
(c) One window : 5' x 4' 

ES-342 	 2 



1.71:1.-342 

trail' 	,-iiict) zciaz eta chii 

	trftarr 

19', 2017 

1.71.-342 : ru 	 araiTrIff 

7-172-1 : 3 	 3-TrETT777 ierdT : 70% 

*F: 	(i) 	witl 51q-1 37fT4T1i e 
Fsfr 775T 	2.77rZT 7'W 04111 t1 

1. fir 	dt( ri41 1.71 600 	 : 
Trfurd 	t, 3T 	31--1-k79 chi44-1 	11-ttf 1-)1 
cqRsqf •wri—A71 	 Trfura. 	3-1-1k7T9 

fa-77 
3T21-4T 

TrT Trrum 34%zrrtm 1;1 aurFri firrgF ROT 
tiq-cq Tit qzirt? Tcriz 	.-16Ric1174 c,q(se-41 
mtlfT TfT fdqrf 	rt 	fit? Tzt FIN a.) 

	

7-frgrrA ITT 	51chw sio'r 

2. f91 1 	 rviliTT 600 	14 	FIR : 

~r 	art f7-R-TrRit f9-ir 	f-*7zh- 	ya.)on 
t 3112:Fri * 3-07:4 

	

	 3-th 3f9-714 
: 

(a) 131171Vf 	qui I 

(b) 71777 3117 Tik 	WciT 

ES-342 
	

3 	 P.T.O. 



	

3. 	r -14 fw-.7 -Oa IR WIWI 120 -71- 	d 3-1q1111 

iff-TEa.  fa-ucruft 

(a) TifuEU faqr-4 dcb 	311-Prwr 

(b) 3171-9. j 	4q c.- -1ier)-1 I 

(c) 4ch (A I d f 311R 	4)14 gurr ►  

(d) kz1ch?-4T i( I 

(e) td-z1 	 cht 	-gicftzi Fa R.I.  I 

(f) TF4 	31R 441 ,11 

(g) alantri 

(h) 1.1 4h 	chl 4 1 rd 	FN-q 	F,1 obi Trfittff 

(Trigonometry) T 31:1411T 

	

4. 	f i ;01 r311t -TTWT 600 71)' 	,31 1  : 

oqi(stii 	fa, 3Trq 3v:A Niurrtit ta -r-4 -ER *Ft, 

T-4T-Ai 	17-i) 4 1-1 -ff9-11 -1=h 	5 51 	f d cl 4 i 

k-11 1-11-414 (g4 	q)lq 	31-qt fTuui- 

3Tiwp:r 'grw-41-  % ribqkd 	? Fa Fi.T 	-9-rcr 

-1-1 t 

(a) : 15' x 12' x 10' 	x4. x 

(b) : 6' x 4' UPI 

(c) f&c : 5' x 4' 
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